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DATE ___ PERIOD . .

Rate of Change and Slope
Find the slope of the line that passes through each pair of points.
. y T . y . R
(-2.3) B0 D B3l
Y
{-1.0) 0,,/ X
i X 2,3 A ° !
4.(6, 3), (7, —4) 5.(-9, -3), (-7, —b)
6. (6, ~-2), (5, —4) 7.(7, —4), (4, 8)
8.(—7,8),(-7,5) 9.(5,9),(3,9
10. (15, 2), (-6, 5) 11.(3,9),(~2, 8)
12. (-2, —5), (7, 8) 13.(12, 10),(12, 5)
_ 7 4 12 |
14, (0.2, ~0.9), (0.5, —0.9) 15. (g, -3-), (—-3-, -3-) -
_ | | e
Find the value of r so the line that passes through each pair of points has the c
given slope. 8 :
wv
1 1 Q-
16' (-"2’ r)’ (6’ 7)! m = _2— 17' (_4: 3): (r: 5), m —= Z I-—| .
18. (=3, —4), (=5, 1), m = -2 19.(-5,7),(1,8),m = T
20. (1, 4), (r, 5), m undefined 21.(-7,2),(-8,r},m = -5
22.(r,7), (11, 8),m = —+ 23.(r, 2), (5,7), m = 0

24. ROOFING The pitch of a roof is the number of feet the roof rises for each 12 feet
horizontally. If a roof has a pitch of 8, what is its slope expressed as a positive number?

25. SALES A daily newspaper had 12,125 subscribers when it began publication. Five years
later it had 10,100 subscribers. What is the average yearly rate of change in the number
of subscribers for the five-year period?
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DATE ___ PERIOD

‘Word Problem Practice

Rate of Change and Slope

1. HIGHWAYS Roadway signs such as the
one helow are used to warn drivers of an
upcoming steep down grade that could
lead to a dangerous situation. What is
the grade, or slope, of the hill described
on the sign?

2. AMUSEMENT PARKS The SheiKra
roller coaster at Busch Gardens in
Tampa, Florida, features a 138-foot
vertical drop. What is the slope of the
coaster track at this part of the ride?
Explain.

3. CENSUS The table shows the population
density for the state of Texas in various
years. Find the average annual rate of

change in the population density from
2000 to 2009.

1930 221
1960 36.4
1980 54.3
2000 79.6
2009 96.7

Source: Bureau of the Census, U.S. Dept. of Commerce
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.4, REAL ESTATE A realtor estimates the

median price of an existing single-family
home in Cedar Ridge is $221,900. Two
years ago, the median price was
$195,200. Find the average annual rate

~ of change in median home price in these

years.

. COAL EXPORTS The graph shows the

annual coal exports from U.S. mines in
millions of short tons.
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Source: Energy Information Association

a. What was the rate of change in coal
exports between 2001 and 20027

b. How does the rate of change in coal
exports from 2005 to 2006 compare to
that of 2001 to 2002?

c. Explain the meaning of the part of the
graph with a slope of zero.
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